1 The number of women who have become Chief

Ministers of Rajasthan till datc as on 1" September

2024:

Choose the most appropriate answer from the

options given below: B

1 R 2024 mwmﬁgmﬁm‘-ﬂm

T &2

ﬁnﬁt&aﬁﬁaﬁﬁémﬁmmgﬁ
/(A) 1 ®) 2

© 3 D) 4

(E) Question not attempted / 3TaRa ¥

2 Who among the following was appointed the
deputy Chief Minister of Rajasthan in December
20237
Choose the most appropriate answer from the
options given below: b
(A) Gajendra Singh Khimsar
(B) Rajyavardhan Singh Rathore
(C) Bhajan Lal Sharma
(D) Prem Chand Bairwa

Question not attempted

ﬁﬂﬁ—rﬁaaifirﬁ?&ﬁamzozsif mn%:
ot R W P frrmram.
ﬁqﬁﬁaﬁwﬁﬁ&wﬁbﬁmmgﬁ
(A) T fig Rawat

(B) UsIaHA i TS

(C) WS

/aa) imazatar
(E) agaﬁasm

3 Select a Rabi-Crop grown in Rajasthan:
Choose the most appropriate answer from the

options given below:

(A) Barley (B) Bajra

(C) Maize . (D) Rice
E’i{ (E) Question not attempted

P qowm i ey ard o e # 9m fifig

B ProfRefwed & & wate g swog

i (B) amm

; (C) v (D) 9w

_ (®) iy L

- orex12) * , : 3

Given below are two statements:
. Statement (I): In Rajasthan Pabuji is y,
Ors[,,ped

as the God of Camel.
Statement (I1): Pabuji is credited to be th, firy
to

bring Camel t0 Marwar.
In light of the above statements, choose tp, .
. appropriate answer from the Options givey
below. ‘
Both Statement (I) and Statement (n)

A
+ correct. 1
Both Statement (I) and Statement (m are

incorrect.
Statement (I) is correct but Statemem (")

(B)
©

is incorrect. |
Statement (I) is incorrect but Statemm

(D)

(10) is correct.
Question not attempted

aﬁ%a}mﬁqm
N Wﬁm@ﬁm’i%m*mﬁ
ST bl ST &1
T (TD): mﬁmmaﬁma}wmaﬁ
2
3G FT & s 8, A R Ty Rt ih?r
waifs UG SR
S (1 SR (1) 3 e f:.l‘S
(B) ¥ (T) 3T (II) AT e &
(€) T (I) Wt & AT Hor (IT) 7T
(D) % (T) T & QfeRT o (IT) We 2l
® ogEfaws
Rulers of the princely states have treasured the =
accounts of their valour, victories etc. written by |
the chroniclers. What are these accounts called? :
Choose the most appropriate answer from the ‘
options given below:
(A) Khyat
(C) Dawavait

LU S TR SN

30,

(B) Vachnika
(D) Vaat

(E)  Question not attempted

m%mammﬁmmﬁwﬁ*
aﬁsﬁmﬁmﬁ«v@wwﬁwﬁﬁﬁmﬁﬁ

8 7 9l e gy v

Reafofen et & & watfire gugm SIS

AA) & (B) aaﬁm
© e (D) W

(E)  rufer v
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Which & .
b ich dialect is spaken in the areas of GChur,
\unj '

njhunu, - Hanumangach,  Suratgach and
Gangnnngaq?,', e
Choose the ]

ose theliiase appropriate nnswer from the
options gi\'oix) wlow: N

(A)  Malviny

(B)  Shekhatvati :.'x-
¢ o

(©)  Mewaty,

(D)  Wagadi

(E)  Question not attempted _ :

T, T, TR, g o v % A
-t et A s

Freaferferer Rzt 3 & arrtfiras swges s g

(A) WrewEtzy

(B) ﬁm@

(C) Tawdt

By A
(E) wﬁw

, IS
™

In Rajasthan) ‘Sanjhi’ is made during the
Shraddha Z‘{a‘kslm (fortnight) before * which

festival? (O
Choose the most appropriate answer from the
options givep;below:
(A) Dussthra
0
(B) Holigey
(©) DiwdiD
i
(D) Pongaly
(E) Qucst{i?n not attempted

qroreT 3 Fore e & TEet o1 ey ¥ et st

B AL
e e & e g e g

A) )
At
© frg
(D) qitTet
€ FIRawA
()I’Q‘x12 ! *

3

.
.

9

/(AT TR

: the
celves
Which of the followng reglons €

hghest rainfll In Rajasthan?
Chovse the most apprppriate
options given below:™

(A)  Rujsamand })) Churv
(C) Nagaur oM Bikaner

(B)  Question not njtepupted
mmﬁﬁmﬁﬁgﬂmmwmm‘m

w2 =
AmRiftr Rrared it & wrevifives Iagw 300 3T

P T .
0 »

() =mit . ~D) HFAT 4 f-;’l
(1) orgafaww ?g

answer from the

m .
In Rajasthan on which.giver is the Gandhi Sagar

Dam located? N
Choose the most apﬁ:prlatc answer from the

options given below:

(A) Saraswali c(p) Banas
(C) Chambal ) Mantha
(E)  Question not nﬁptcd '
e A M TR A T w Raa e
PR R o i Jugw SRt
(A) wEd B T
o e (D) W
(B) rmi@wd o

[ ‘
10 In westen RajastharXhot dry and dusty winds

. T et Y B ¥ e &
mwﬁq@m%mﬁ E

() rgafawx

start blowing in su@ers whxch are known ag

_— =
Choose the most aﬁﬁrprfatévhns_wﬂ from th
options given below: v ©

(A) Kaal Vaishakh (B) ‘Mt;vath
(©) Loo ) Monsoon w;
(E)  Question not aftempted " inds
qrﬂ'ﬁmwﬁﬁ!ﬂwmﬁﬁ-gqaﬁtwq&
(A FEImE@  CB) W

q ) TRy .
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{1 Which of the following is not a part of human
male reproductive system?
(A) Seminal vesicle ()  Follopion tubes
(C) Vasdelerens (D) Testes
(E). Question not attempted

et 3 @ WA IR S W T T

4

(A) TE

(C) TwaTH
(B) rgaRaw

Which of the following is not a type of teeth in

L) e R afer
D) II‘IET

12

. humans?
(A) DPylorus (B) Canines
(C) Incisors (D) Premolars
() Question not attempted
ﬁwﬁam?iftaﬁﬂ.wugﬂﬁﬁah’immmwﬁ
®
V(Aa" R IERL B) TT&H
(C) T (D) W
(B) JTaRawd .
@ From the following list, sclect the organs of the
human digestive systen:
a. Rectum b.  Trachea
c.  Ocsophagus d. ~ Urinary bladder
e.  Pharynx

Choose the most appropriafe answer from the

options given below:

(A) b,dande only (B) candd only
(C) a,candeonly (D) @ and b only
(E)  Question not attempted

e e it & T 35 T 7 it T <
ffw

a. m' b.. ofem

C W‘ﬁﬂ‘m d. ARE.

e. i

2 R e Rt 3 @ watfaw I

(A) Faab,d3Re (B) Q;ffmgﬁ

© ¥ado,c3c @ Faaadiib

(E) SgaRawd

14 . Which of the following is truc_about CARI
PRIYA? |
.. Choose the most appropriate answer from the
options given below:
(A) Commercinl Broiler Chicken

(B) Dual Purpose Chicken
,.‘(C) Commcrcinlly Brown Egg Laying Chicken
' (D) commercially White Egg Laying Chicken
(B) Question not attempted
! i @ e <0 R Faici e
&2
Prat 3 & wratfiren SO I
oy e gt
(@) e g
) PR *y 31 3% ah fifat
nfirfas e % 3 v gffat
(E) TR A

Which of the following pair of poultry bird and *

its characteristic is correctly matched?
t appropriate answer from the

15

Choosc the mos.
options given below:
(A) CARI DEBENDRA - Commercial White
. Egg Laying Chicken
(B) CARIPRIYA- Dual Purpose Chicken
(C) CARISONALI- Commercial Brown Egg
Laying Chicken

(D) CARIBRO VISHAL - Dual Purpose

_ Chicken
(E) Question not attem

P & frer e T

pted . 38
gt st

—
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Which of the following pair of poultry bird and

.-, its characteristics is not correctly matched?

@

- (D)

*. Choose the most appropriate answer' from the

options given below: !

CARI SHYAMA - Improved Indlgenous
Fowl

(B)
©

UPKARI - Improved Indigenous Fowl
HITCARI - Improved Indigenous Fowl
CARIBRO MRITYUNJAY - For hot and
humid region -

(E)  Question not attempted

P & v e e of et e
SIS 1 e e el e e 22
ﬁqﬁr?@aﬁﬁﬁﬁﬁ Hﬁfﬁﬁmmgﬁ
(A) Frvam- mémrgﬁ

,AB) Il - 3 e gt

17 -

- ©

- (B)

©) Tt - m%mgrﬁ

(D) WW - 1} afte o @1 3 R
:ﬂgaﬂﬁw g

ns],

Which of the followxng isa grazner/shepherd of
"Rajasthan? 5‘?)’

Choose the most appropnate answer from the

’1 'l

options given below

(A) Gaddi
(B) Dhangars

Raikas

. '
‘34
75

';-'- x??’

“s:?“o:j

()
(E) Question not attempted .
- Frfafa & & @-ar oo w1 9@ )
m&mﬁﬁmmm?
A ™

TR

ES T

(D) TSR EET

(E) avga&am

OPQX12]

Gujjar Bakarwals; . T

18

19

20

i
Vijaya Stambh (Chittorgarh, Ralasthan)
storied pillar made of:

Choose the most appropriate
options given below:

: (X) Rid Sandstone and White Marble
(B) Red Marble and White Sandstone
(C) Only Black Stone
(D) Only Red Stone
(E) , Question not attempted
o wifvren Aireriren Fea =
et .
Presfae Rt & wrarffires 30gw SO0
&) mmwmmm -

ABY S G 3R g T oAl
(C) I HTeT I
(D) It T YeuT
(E) uRawx

In which month the festival of Gangaur is
organized?

Choose ‘the most appropriate answer from the
options given below:
(A) Falgun (B) Chaitra
(C) Baisakh (D) Shravan
(E)  Question not attempted
TR 3 weER mﬁmmﬁiﬁmi‘z
- TrefaRea famedt %  watfars sogw IHEH:
(A) BEE By W
©) durE (D) oy
(B) orgafaws ‘
A number of veiled women dancerg

balance
seven or nine brass pots on their heg pto
form is called: o This dance

answer from .

Choose the most appropriate
options given below:
(A) Ghoomar
(C) Terah Tali (D) Bhawa;
(E) Question not attempted
agaqlihtgzaﬁﬂWWﬁﬁt

(B) Kalbella

| qAEdT)
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¥ 21  Which dance is performed by the Bheels in

OPQ-X12] 3

Mewar? ,

Choose the most qppropriate answer. from the

options given below:™

(A) Gavri Dancem (B) Kalbeliya Dance

(C) Bhawai Danc®) (D) Ghoomar Dance

(E) Question not‘iﬁem’pted

arg 3 oftel T 1 e T ST 87

ﬁnﬁ—lﬁaaﬁas?ﬁﬁﬁwaﬁ&ﬁaugﬁmgﬁz
TR T (B) el T

(C) WERTA l‘*\_’(D) TRTA

™
Where is the ‘Tﬁaum Sundari Temple’ in
‘Rajasthan located? 4
. Choose the most éppropriate answer from.the
. options given below:
'(A) Banswara (v)(B) Churu
.(C) Sikar [~ (D) Bikaner
(E) Question not‘q }empted
Firgur gl AT e i el Rua®?
Wﬁmﬁmmmgﬁ;~
AF) T o® T AW
(© H= D)
(E) ITRATH oy
r~ )
Gogaji’s (a folk det;E) in Rajasthan) father’s name

was: (o))
Choose the most ‘a ropriate answer from the
. { %o

options given belo@) A\ s
(A) Bachehal Singh (B) Zewar Singh® ~
(C) Arjan Singhmm) (D) Surjan Singh
(E) Question nolAtempted
st croreF 3 (i &) 3 felt 5
qt1: N
frfrfaa Rraedl 3§ @i Jug I
A) TEafie o (B) s fiw

sehifie (D) FomfiE

(E) ui@aws

 The cost of food thali for poor and needy under
‘Shrec Annapuma Rasoi .Yojana’, a welfaré
scheme of Rajasthan (ason S Jtember, 2024) is :
Choosc the most approprlatﬁ;nswer from the

24

“options given below: )
TouTT o FE At st T
BT %mmaauaﬁﬁmﬁm
’ . “
. B e (R 2024 & STEQ FH 82
. P Rt i & watfas Iagw I L:
" T8 (B) '{ 22 '
© < @ k2
(E) Question not attempte%&gﬂﬁﬁ b
‘ n b
25  ATAL Sewa Center are locatgq}in Rajasthan in/
Nt o :

at:’
Choose the most apﬂrgprfaféﬁnswcrf'from the

- options given below: &
(A) - The capital ofl%zi;,i.astha‘xx‘e)
(B) - All major cities of Rajasthan
(C) The Gram Pm@gyat 1{5}2;1
o) Al the,:courts’, A ‘"
L® Question not at':té;nptedn‘:"‘ )
Praffas freredl 3 § galfiwm Igw INEE:
@ s !
®)
“o
(E)

st I

; ESUIEANE - 5 T %,

R i 3:",;1 &

%6): The Toll free “Teléplione number for ‘Child

o Helpline is: o * .
Choose the most appropriati,gnswer from the
options éiven below:

RS

G

e devarr ¥ R R e o
j gi .‘:4 .
ﬁmﬁiz‘twﬁa&;wmgﬁ

@y 1090 ®) 1095

(© 112 _(Dy 1098

(E) Question not attempted / FARATH
" [ Contd...
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Which Festival of Rajasthan is celebrated on 14t

Janunry, on the day of Makarsankranti, cvery

year? o

Choose the most appropriate nnswcr from the

options given below:

A)

)

©

(D)

(l?.)‘ Question not attempted

yrear i uf ad 14 S, TR o fom T

W A wiler T Fif:

W%Wﬁwﬁﬁﬁmﬁhmmgﬁ
‘/m/ wWIwa .

®) I

© TEmINE Vs e

O) EEIE . e

() IrguRaw . coies

.
ob

Kite Festival
Colour Festival
Ballon Festival

Rose Festival

,

CAZRI, a rescarch ‘institute. in Rajasthan, is
oy Rajas

working on the issuc of:
A

Choosc the most appropriate answer from the | -

options given below: - .
A)
(B)
©)
(D)
(E)
FA (CAZRI), TIEIH F T Tig wea form
fora w and o e 7
Pt et & wraffirs Fuge s g

Arid ccosyslc‘t.r.x.

Space rcscnrch"."-‘ o

Camel rescarch - .
Industrial réscn‘[ch. S ;

o £1,

Question not attempted T

R et @

(B) iafey ira/srgEaT

(C) e gEur

(D)  ireifirr srgEam . .
(B) gaf@ux

orQ-xi2| *

31

29

30‘

i

o

'_ Choose the most appropriate

as alwa;

fRajasthaﬂ -
r. from

- Choose a major issue which h
the agricultural development 0
Choose the most appropriate answe
options given below:

the

(A) Unpredictable and irrcgular

(B) Scarcity of metals and minerals

(C) Insufficient land for agriculture of
(D) Lack of interest by entreprencurs

Rajasthan
(E) Question not attempted
ﬁnﬁﬁa‘awémsrg@@aﬂwmm
mmﬁﬁmaﬁa&awﬁﬁm%’
SRt e & ararffires I9G ST LT
ST St it aut
(B) g R @t FH
(© T forg vt
(D) TSR 3 Tt & v o T
2 (® St v

With which occasion is the Kachchhn Ghodx
dance associated?

Choose the most appropriate answer from the
" options given below:

(A) Teej
(C) Holi

(B) Marriage
(D) Navratra

"(E) Question not attempted

. ot e e e et @ daiftra 22 o d
ﬁﬁ%ﬁﬁﬂﬁﬁﬁ%wﬁﬁmmmaﬁ
A) (B) ﬁ’cﬂﬁ

(D) -

(E) igaf@yd

On which occasion do women of Rajasthan we
“Lahanya Bhaant Ki Odhni?” o
answer fro
options given below: M- The
(A) Holi

(B) Tegj
(C) Diwali (D) Birthofg chilq
(E) Question not attempted .
TS Y afgard o sam w “TRRET wihy
At gedt 8 i
ﬁ:ﬂ%-!ﬁaaﬁwﬁﬁémffba;m
TR N e MY o
©) farh (D) ¥
(B) Sgaf@ys ﬁm B

ys uffectcd

(¥ Scanned with OKEN Scanner
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In which folk dance of Shekhawati and Kuchaman
are tblanstruments dhol or drum used?
Choast) the most appropriate answer from the
qptloﬁggwcn below:
(A) v andiya Dance
(B) C¥achchhi Ghodi Dance
(¢) Agni Dance
(D) Ghudla Dance
(E) (?uesuon not attempted
Faart IR FarH & e ds @A S T
T T ST Qiar &2
ﬁaﬁﬁ&mﬁb&'mmaﬁ
g
Rk S
/g%ﬁqm

©) T
(E) &:ﬁaﬁaw

32

\‘,‘"— A

e 3
T

A sh_oogkeepcr purchases some apples at 41 for

4 10671{0“ many apples for T 60 shouldbesold

o g2

T R Y TO 4T X 100 F 41 % i A TR
%% T FR ¥ RIS T 6oimiaaaa%

"1.

® 13 ,.s
(D) 15

estion not attempted / maf(a s

PJ‘)
,{(E)

g o
3/3{"" On Rlling an article for T 230, a shopkeeper

%+ /. eamS3 profit of 15%. What is his profit or loss
g \v percentage if he sells the same article for T 210?
/"' ~(A) 2" o profit (B) 7%Iloss
+(€) 430% profit (D)
(E) (vQuestion not attempted

\< 4 . TR I 230 F 999 W THERR 15% F
,z‘ '5am AR TEIWIGAR 210 FITaT @,
¥ 4 N 31 e i

5% (B) 7% JFW
-q,\ (C) 10%8 (D) 2%IFER

\t

207

2% loss

W

¢

(E) Faf@wxn
OPQ-X12) *

|37

35 A shopkeeper gives a discount of 8% to his cusf 45
~ tomers and still gains{20%. What is the marked .
, price of the article whfse cost price is T 460?
TR ¥ 3 e, 1 8% H g2 it fi '
*ff 20% T A FARDTE I FT A 7T HT ‘
2 foraa A T 4607 !
(A) T 600 ,%r 660 o
(C) 580" ) T 550 3
(E) Question not attempted / Sl'gﬂf(f" 97 |
36 Who among the follo{r?ng is the first 1'aralympi- :
an to win two Paralynfjiic Gold Medals? .
Choose the most appropriate answer from the d
options given below: : ‘
_ (A) SumitAntl o~y '
"5 (B). Nitesh Kumar O
"(C) Devendra Jhajharia M
(D) Harvinder Singh' (
Question not axfg?npted (
ﬁ:m&fwa 3 qgell ar <1 |9
ety v Sd &2 ()
PR e 5 AT ST S GH: 3
(A) Fiasfae ‘TB) ﬁm"rm ‘ ¢
~ gax wratar ! ch) ztfaztﬁaz
® oAy T :
Shri Raj)‘a\'ardhanimh Rathore, sportsperson !
nimed politician, e{Rlled in which sport at S
Olympic level? [
Choose the most apggpnate answer from the
options given below:—{ 40
(A)' LongJump N
‘ (B) Volleyball - ©
. (C) . Shooting
(D) Hockey ™
(E) Question not agempted
sit Teqad fig UAECR Raedt § T W,
R T iT® S WS eN e 8y
ﬁnﬁ&aﬁﬁﬁﬁ;‘m—sfﬁﬁmm? _
(A) wd@wam N '
(B) ddE A o /
framarst (@fem (
D) & (
() Igaiays | OPQ-
[ Contd—
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38  Who among the following was the first Governor | 41 When 36 is ndded (o (0% of 8 number WEE A \‘:" /;
of Rajasthan? same number, ‘Then that nusmber i9: gah "
o « i' m z‘ m 7 “
Choose the mosf")ppropriatc answer from the w1 ffY st & o0 i 36 A% /
options given be e v exdt B i e vt B [’“ 5,
. (A) Shri Gurumkh Nihal Singh (A) 75 (B) 80 ("? 'V“ e /
A s AL
- (B)  Raj Pramukh Sawai Shri Man Singh © 9 m ! w9 o Y
"(C) Dr.SampiFhhnand (B)  Question not attempted / *“g jira "’,,"o
(D) Sardar Shnquum Singh ‘ < s in an V
(E) Question not aitempted 42 - A student has to score 4% marks 10 pas 0 a0 :
.ﬁnﬁ—rf@aﬁﬁ“%'?%mmmév examination. He gots 30 marks aflD failcd :/ the
mwammwaﬁ masks, What are the maximdmgrparks’«
('")
(A) mwwﬁm ' ',.rr , cxamination? .
®) mﬂﬁ@“ﬁ’mmﬁg /’\ qasmaﬁqamzmuimwfa%‘”"”"“
- “‘Tﬁ“&) 9/5 mﬁ?nz&sodwﬁﬁ?&mﬂzgﬁﬂ"w
) \ s aferran &5 70 &7 /
O) m%ﬂgmﬂw B SIman R, @ gl i ¢ /'4
) orEha ‘4""” ®) % ) 100 . /»/
5” /{,o 125 ) 140“’3 o
W W
39 ind a single dgt::'ount equivalent to successive g ,( ) Question not attempted / ™ A
om ) o, B ')"F/ ' (02}
iscomis of 1 0% and 25%. “ 43  Select the folk dance of _Rajasthan which is
10%, 20% aﬂtqs@'qﬁqu%mqquq *
v popular for cntcrtammen! andc}&mng social
mwhfkg O AW N
. *w nssucs y
0, . .
(A) 55% A 54% 1 @)" Choose the most appropriate answer from the
/ce)/ 46% ™ (D) 48% 7 options given below: - ™
(E) Question I-Bgttcmpted | FgEfaws Ao .(A) Kathputli dance g
e . gg (B) Giddha m
40  The price of a ;:g‘[nmodity decreased by 10% ) (Cj " Kuchipudi a .
which enabled ashopkeeper to purchase 8 kg (D) Garba N
more of it for Rs.O.§6Q0. Find the reduced price (E) Question not attempted o
per kg of the commodity. TSI % 30 A1 Je7 &1 g Fifse 5 S Tt
fet 7q f g F 10% B T N W, @ mmwmmmﬁum% i
mmm@@g femum safrer W # T 3600 "ﬁﬁmff?mm{gmm
GliT g Firg @w 3 F 9= aeg I ufa / F3YAEA T T ,
/o/?so N ®) T48 )/,,'q/g,‘ ?ﬁ"t@r {(}
© 45 O () T42 "5 ?p MD) sl Q .
(E)  Question not attempted/ ﬂjﬂﬂa WJ > (E) spf@wa
OPQ-X12] - , A?;M . e,
b ﬁ r ;{ S ! Congg,,
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44 While reciting the Phad of Pabuji, a musical | 47 ., Qn compound interest a certain sum increases,
instrument isused called_____ . . 10.25% in 2 years. The rate of interest per 1 50
Choose the most appropriate answer from the ‘.3 K L sy '

- options given below: /~,,“\" ~ m&mq@;ﬁfmm 2 791 510.25% 7
(A)  Jantar (B) M_oochnng"\*/, v, it & vy ad s ‘ o
‘ (©) Ravanhattha (D) Ektnm oL ) X (Ay 4% 5% '
(E) Question not attempted - ~© 6% “ (D). 8% \
TR & WIS M W, ﬁmamusra:rsm’trrm § (1:) Question not attempted / SARATA /:
TR, TR wEemrgl e A\ :
ﬁﬁ(mﬁﬁﬁ%wﬁmmaﬁ: 48  The monthly incomes of A and B are in the ratio
(A) S (B) =M 4:3 and their monthly expenses are in the ratio
. TaurgedT (D) T&HaRT 3:2. If each saves T 800 per month, then what is
7 (E) R wH ~ the su'_f’n.of their monthly incomes? A
, , .AaﬁTBﬁmﬁﬁmwa‘@m43%3ﬁt3ﬁ 51
45  RIICO has set up a Japanese zone in an industrial ‘mﬁﬁiﬁifiﬁ ST 3:2 21 aft y% =fw T 800
park in: .srf%rmaamr% Y ST I T AT
Choose the most appropriate answer from the | . (A) < 48,000 %B)/’ < 56,000
options given below: . ",'T}:s (C)’_ T 84,000 D) 96,000
(A) Mount Abu 3" Neemrana w \' 4 //"(E) Question not attempted / :agaﬂ?r b i
(©) Jodhpur i ‘(D) Dholpur - Q‘;\ et . ‘ ‘
(E) Quesnon not attempted g 49 ; Which of the following is not a reason for water
" e RIICO) Y T ST & (W), ST | »ee scarcity?
qﬁ;ﬁmﬁamﬁ * . Choose the most appropriate answer from the
ﬁqﬁmﬁmﬁmmmm@x;’ " options given below: |
(A) mazani . AT me /) (A) Rise in population o o,
+(C) g (D) &g o' (B) Deforestation \
’ (C) Space research
® WW‘ : %/u" [ (D) Global warming
46  What is the compound interest on T 15,625 fof 9 | - (E)  Question not attempted
monthsat ] 6% per annum compounded @artcrly? ey 3 & AT STt oy TR F TE &2
4L'}‘_\ 4 ]5625qt|6%gﬁlaﬁiﬁztamm« ﬁﬂ%ﬁﬁﬂmﬁﬁmmmﬁ
'v mmmm&m9m%mm (A) e § 3
+azm I6 |7 . ), T ) ,
%((A) 21861 (B) '\'1941' : iy ey ATHUH q"r"':\ 's‘” ' :
%Mwsx @ 19! v 4y (D) &ftres FT ;qu/ . y
yE) Question not atlcmpwdéfﬂﬂﬂa' qdq -3 (E)r uaﬂaﬂjfw ~f~V, d OPQ-
k 25 A 10%,. “(‘«P o'?“p “gb .{{Cont oot
wons B BT
TR S .io ot 3 5 't‘ff“y 3 ’}gfv((
v Ba o2 % UHE




50  Support money for big cattle (big govansh) under,
 cattle majntained in cow shelters registered by
the state overnment is enhanced from October
2024 as- N

Choose the, most appropriate answer from the
options given below:
A T 44/day

©» T 62Ma (D) T68/day °
(E) Questlon not attempted

mmmmﬁrﬁmémm%

(ﬁ) < 54/day

! 51  Which of the followwg regions of Rajasthan
~ shares its boundary with Pakistan?

Choose the most appropriate answer from thé
3 options gnven below:
| (A) Blkancr '
‘ - (©) Churu (D) Bhilwara

(E) Queétlon not attempted

frafafas & team @ S & mﬁs&m ¥
mmﬁ%ﬁm 4
ﬁnﬁiﬁaﬁmﬁémmmgﬁ
,(g)’ LiGa 0 (B) =t

© I&- (D)  sfiewErer

(E)

Which of'the following regions is located in the
southemxl:t:ost part of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Churu
©) Ajmer (D) Rajsamand
(E) Quesnon not attempted
ﬁﬂ%ﬁmﬁaﬁwm 27 T 3 gl <ot symr
| ﬁﬂzr«%?
| 3 mmﬁm&%mmmﬁ
@A) wiwarer
L © Engit (D) TR
-(®)  TEawy
°PQ-X12] e

(B) Pali

qq

s2.

Banswara

(B)

11

S3

. ©
)

cultivation practice 1531

ikas follow
In which of the Tollowing seasons Ra! )

eir life? he
from

Choose the most applopriate answer )

options given belowigy

A —

(A) ~

(B) o)

Monsoon
Summer
Winter . . -

'Throughbut theyear

(E) Question niot ittempted

| muﬁ%ﬁc{aﬁwﬁmﬁﬁﬁ“ﬂﬁ

A

| ) ﬁqﬁ—rﬁaaﬁw&iﬁﬂwﬂ%zmmﬁi

(A) TFET

M)

)

®) hw ¥

© w&
Tq W

(B) gaf@yx

3873é3"

(o)}

¢ |
Bémjaras, a well-knogm group of graziers were
found in the vxllagegf !

; Choose the most appropnate answer from the

options given below?¥)

(A) Rajasthan an&lttar Pradesh

(B) Assamand Ndaland e

(C) Goaand Mahm‘pshtra _ ) \\
(D) Kamataka anm(eralu - g5 i ﬁ )
(E) | Question notgottempted _ 2
TR T G W L&
it gy, 0 %

©

[(5)




56

{

©.

Pastoralists/shepherds primarily depend on which
of the following activities for their livelihood?
Choose the most appropriate answer from the
options given below: '
(A)
(B)
©
(D)
(E)

Agriculture

Industrial work

Animal Husbandry
Fishing A -
Question not nttcniptcd

YR TeRT (55 x@w{"z} ATt

st & frg AR & frw w el
wW® :
P el 3 & Wt J9gw S

@ FN
(B) mﬂ& o

w. .
-

ey e

(D) WO IS
E) IFARawH

When a ray of light incidents normally on a plane
mirror, the angle of n:ﬂectic;n is - WU
Choose the most appropriate answer from the
options given below:

a) 0

(B) Greater than 0° but less than 90°

90°

Greater than 90°

Qué"stign not attempted

(D)
(E)

gt on S T < T S S

M%ﬁmﬂwa&vgﬂmmﬁm
ﬁq%ﬁaﬁm’f!‘fﬁmmwgmmvﬁ:
0° § '

®) CRARHTG 9°XFTH

©

(B) Iruiawd

OPQ-Xi12] 3

12

57

PR et i & waffirs Suge IR :
@A) 30° ABY 60°
© 90° (D) 120°

List-I List-1I
Shape Type
a. 0 L. Convex mirror
; b ¢ II. Concave lens
c ( L anvex lens
d ) ‘ IV. Concave m%i-ror
-1 3w -1 = v

Two plane mirrors meet at right angles. A ligh
ray is incident on one mirror at an angle of 308,
What will. be the angle of reflection from the

59

sccond plane mirror?
Choose the most appropriate answer from the

options given below:

2 e 90 T g & aw ¢ e o
rTen o FCOT Y 2T T 30° T T e Bt
m{a‘tmaz&wﬁm*waﬁwmmmm |

(E)  Question not attempted / Nﬂﬂﬂﬂ w

Match List-I with List-II:

a.
b.
c
d

) V.

Choose the most appropriate answer from the

options given below:

A R e et F il Iuge I
(A) a-l,b-llLc-1V.d-1
a- l". b - J.Q--.Jt-d:.ll—-—’

©) l\-lV,b-l.c-Il.d-lll
(D) a-NLb-1Lc-Ld-1V

(E) Question not attempted / SARATH
[ Contd...

(& Scanne d with OKEN Scanner
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Antmnls which Iny eggs are colled:

Choose the maose appropriate answer from the
opions givon below:

[ AR}

. (A)  Viviparous animals
(1)) ()\'Ipim\us mnimnly “
(€ Ovoviparous animals
(1) viwo tertilised animaly
(B)  Question not attempted
1 A AT Stega o v oy
ﬁmihﬁ!mﬁm‘iﬁﬁmfmwaugaimgiz
(A) sl sty
(B wEweRs sty

(C)  StewRIw sy
BT PR iy

o (B)  ovyaia ws .
60 ldentify the oviparous animal.

(A)  Buuterly (B) Cow .

(©) Dog (D) Human beings

(E)  Question not attempted

STEWIE S o v A

ey ot ®B) T

(©)- T D) wg=

(E) - 3ot wg .
61  Govardhan Asram popularly known as ‘Aqmm

OPQ-X12} g

is famous as a:

Choose the most appropriate answer from the

options given below: .
(A) Ml;sic Dircctor (B)  Politician

(C) Actor (D) Player

(B) bucstion not attempted

rﬁuﬁamm#tﬁtfm'mmm'mitﬁmm%.m
ufez

ﬁqﬁfmﬁnﬁiﬁitmffbmwgmmqﬁ
() whfEmE m) Ry
i ) fuemdh

mﬁaw#

13

: which
** | 62 The Late Jagjit Singh was famous for

style
of singing? e

. from
Choosc the, most appropriate ansWer

options given below:

(A) Soprano )
(B) Western stylc singing
(C) Tenore
(D) Ghazals |

E ucstion not attempted *
;?m:mmﬁwmma:mmﬁ?
i et & wrarifiras swges ST T:
(A) W
(B) uftndt deft
(C) &r

o

(B) gafmuyg

~ Who among the following famous Rajastham ‘

actor played very important role in Nauonal

Award wining film “Paan Singh Tomar?

R

Choose the most appropriate answer from the

options given below:

(A) Karamveer Choudhary

(B)  Sahabjade Irfan Ali Khan :
(€) . Goverdhan Asrani
“(D) Kiku Sharda

(E) Qutstlon not attempted -

ﬁ:m;aﬁmmmmaﬁﬁmg%

ﬂﬁﬁmﬂmﬁwﬁ&wﬁwgmm :‘
(A wldfi g ¥

(B) "WTBIRIR Yoo 7ol @«
/;Gr’??rmhamm

(D) %m
(B)  ryafea w "

[ Congq,

G

“wwﬁiﬁhtw a;@"

Scanned with OKEN S
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In how many years a certain sum of money will

“ .
become four timest itself on simple interest at a
rate of 20% per zmgm? '
& (A) 10Years (y (B) 12 Years
: (©) 15Years O) (D) 20 Yecars
N (E) Question noT’xfttemptcd
o 2 i ¥FIRT 20% TR AftE
s WIS R T AR Sy
: ‘..:.‘ (A) 1098 [B) 1294
¢ ‘}C)/ 15 m (D) 2094
§‘:/: N (E) :qgaﬂmm
: .,**'*65 A sum of I 15,663 is invested on compound
» < Yinterest for 3 years_ Lf the rate of interest for three
{»" T successive years are10%, 8% and 5% per annum
AN\ respectively, thenVhat will it amount to?
7%’% T 15,000 St yFaiy 3 Tt & fog wRgfa = W
. A iy & el &1 3R SmaR 3 &t & fog s
T 10%, 8% HT05% wfvad ), A el F a1
: mnﬁrma’nﬁ?b ' _

:)(«hsooo m (B) 18,582
18,711 O (D) 18920
L) Question nF'attempted | STAiE 9

Accordmg to Mnml production in Rajasthan
during 2023-24, Rajasthan is the main mineral
producer in the co‘uptry for:

Choose the most[appropriate answer from the
options given beldW2

(A) Lead and Zfid Ore

(B) Vcrmiculitcr_‘

(C) Sillimanite (N

(D) Diamiond ©

(E)  Question not attempted

mn@ﬁwawmzozs-z4#:$13m&mnﬁ
uﬁﬂmmg&nm

ﬁﬁwﬁaﬁﬁﬁmmm*ﬁ
(A) ey D \

®) TR S

N
(c) fafed e ©
(D) e

L. OPQXI12]

ot

\|

14

7 "’ Bhilwara city of Rajasthan is known for

68

,4

Choose thc most appropripte. answer from

(44
™
Gold and Silver prodattion

Cement Industry (':J
City of textiles and lopms

options given below:

(A)
*(B).

©
(D) Leadand Zinc production

(E) Question not attempted
Wmmm__g_%ﬁﬂmarf
R ™ |

ﬁwﬁaﬁaaﬁﬁeﬁﬁ#wfﬁmmmg:

@) wfaﬂrafa‘f%mq |

@®) A= ©

/e)/araaﬁtwﬁasrm

(D) diar 37k i 3Ty
® oERavE L

x)
. . (P\ ' bty
What is the smallest five g‘n number which is

"
exactly divisible by 16, 20 unB 24? :
maﬁﬁmmmsﬁ 16, 20 aﬂtzﬂﬂ

qufar: fenmrsa : .

W 16y, ® mAoz;oo 2+
© 103@,4 /WOO/O;

(E) Qucsuon not attemplq / tﬂgﬂﬂa‘ e

v

Determine the maximum p3§S|ble length of the
planks that can be cut from three pieces of nmber

mcasurxng 42 m, 49 mand 6.3 m, all of \\hlch
should be of equal length. lL)

ma’i # aftrpan WA RIE I@ RRT zrﬁ
s 290 4970, 36,3 A et ef g
W?Wia?mﬁﬁﬁmizﬁf% ' j
(A) 42cm@d)  (B) (296 cm (&)

(©) 63cm@d) (D) 70 cm (3)

(E)  Question not attempted / JTFaRa w1 :
[Contd.u j;::

BN k]
(& Scanne d with OKEN S¢
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70 How many numbers rom 450 to 600 are exactly

divisible by 12, 15 and 20?

p7

(A\) Four (B)  Three
(; (©) Two (D) One
\\l* (E) Question not attempted
S 4soammmm\z.nsmmm
Y o
w"v mt‘.’ .
RO IR By T "d“:/:—
1 a -/m o\ LIRS
©) D) w S\ S
1 (E) el W t&- N
1.

Two years ‘ago, the average age of A, B and C
was 24 years. 7 years ago, the average age of B

and C was 25 years. What is the present age of A?
A)

16 years (B) 20 years
(©) 24 yecars (D) 14 years
\ (E)  Question not attempted :
o AT AL BAIC R v o1 24 2 ol 7

LAY TR Bl C o st

A 25 Y ol A f
5y & i s

W) 16Tt Moaﬁ
T wY (C) 24T (D) 147§
2 7
=77 ® swEtaws
,“:;. 72 Which of the following type of animal is
2° suggested minimum floor space for housing
2%
(/t/ purpose?

- Choose the most appropriate answer from the
options given below:

(A) Heifers
(B) Down Calvers
(C) Adult Cows
(D) Adult Buffaloes
(E) Question not attempted
o=ttt & & form s 3 ayy & o 2vmam i
¥ R e A 1 g e mar &
Frfates famedt # @ waifsw sogw smogh
(A)_, s erga) oG
‘/:n{ﬁmmmv" {f,u'.‘p
C) Ia=RTy . P - \
@ wwEwdg o2 A _
(B) raRa wef “,w W \
OPQ-X12 8
Q-X12 e } G

n

74

75

15

contalns
Which of the following animal product

the highest amount (% nutrients) of protein?
Choose the most appropriate answer from
options given below:

(A) Milk(Cow) (B) FEgs

(C) * Fish (D) Meat

()  Question not attempted

PreRaRrn i 2 Py gy e i i o SRR
HTAT (% s e vt 87

PR et f & werfforas g o0 -
(A) 3w () ) fm

© wost oy’ st i)

(B) orgafawe

Which of the following animal product contains
the highest amount (% of nutrients) of fat?
Choosc the most apprapriate answer from the
options given below:

the

(A)  Fish (B) Milk (Cow)
(C) Egg (D) Meat
(E)  Question not attempted
Frefafe % & fre vy sea= i aar A watfes
T (% NF a) B
el forredt f mﬁbmwgmmzﬁ,
(A) woch (B) ()
(C) e (viz)
() orgafawy '

Who among the following is éi'vcn the credit fo,
taking Kishangarh style of painting to jts Zenith?
Choose the most appropriate answe

. r from the
options given below: o
(A) Mool Chand (B) Chandag Singh
(C) UdaySingh (D) Nihgq| Chang
(E)  Question not attempted
ot v i oy Ry v A
PR Rt & et e o
(A EHR ) 9= fig w
© Fwfie M;aw
(B) rgafawx e .

(& Scanne d with OKEN S¢
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76

77

OPQ-X12 ] 3

Who “has written

(Collection of Rajasthan folk tales) -

‘Baataan Ri Phulwari’

Choon, the most appropriate answer from the
optiohi"given below:

(A) (‘-Is)}m Lal

(B) "C_Qllalchand Tiwari

©) Nijaydat; Detha

; (D) Laxmi Kumari

(E) cguestlon not attempted

arai M- 3»—cﬁ1ﬂ (ORI STl m wa)
ﬁﬁﬂaﬁwﬁr@"r*ﬁ?
ﬁq%%aﬁmﬁaammmgi
(A) C!ﬁara

(B) rnaa-‘«*ﬁmﬂ

Nanié'the animal who breathes through its skin:
Q

Choose the most appropriate answer from the

options given below: .
N

(A) pMonkey

3B) f‘gar_thworm

. (C) CBlephant

(D) Z.gamcl‘.

(E) cQuestion not attempted .
I i) o1 AT A S AT T i v 8)
freffiga foreredl 3§ & waifie Jugw sw g

(E) :ﬂaaﬂ?rw

16

78

" ®

" According to the National Research Centre for

(A) mmm%m@ﬁa@a
B) = mﬁﬁﬁm%mmm
© mﬁﬁwwaﬁtw#i‘miﬁm

//aao/ ST, mmaﬂtmmﬁm‘ﬁwm

B -
jﬂ#ﬁqwﬁm—cﬁﬁ#
“(A) ¥aeTb,c3Rd

FgaRa v N

Which of the following are the mtemaﬂ parasites
in farm animals? )

a. Round-worms b. Fleas
c. Tapeworm d.  Mites p~
e. Coccidia ay

Choose the most appropriate answet from the
options given below: (o)

(A) b,canddonly (B) 2 b nnd R only

(C) candeonly (D) acandg only

(E) Question not attempted

maamamw%mm

®

a. 'ﬁaiiﬁf 'b. ﬂ'ﬂ N
. Bmah  d e (TR
ﬁ‘]

wrrfifest

TagE I
¥aeta, 3N d
©). Fmwclte (D) - dmera, oo

(E) paf@ws

[ Contd...

Camels, in the camel health and management
calendar, which of the following activities is i
proposed for the month of August? i
Choose the most appropriate answer | fmm the
. options given below: ™
(A) Investigation of camel saﬁlple for ..
"+ endoparasites trypanosome. b
‘Vaccination and medication for killing -
. " endoparasites. N A
©) > Soil management of shefters and
numbering of camels for identification. v
' (D) Hair trimming, vaccination and.spray of
D) (o
chemicals. ;\ }
Questxon not attempted
M‘Ta;z FHUH %75 & AR, e e it
e Sheter i snre e & forg el & @
F-eft ferfarfir senfera Y g 82 I ;
P feedl 3 & Fatm JTgm IR G

C i

& Scanne d with OKEN Scanner



80 ° The hormone that regulates the

blood sugar level

in our body is:
(A) - Adrenalin - (B) - [pgyjip

(C) Thyroxin (D) Testosleron

(E) - Question not attempted ™M

TR IR F T W ww ﬁ&gm = e

TR -
(A) s

(C) urifE (D) %@@q
(E) qoRawsy

81 = The examples of connective tissues are:

a. . Blood b.

c. Epithelium d.
" Choose the most appropriate
' options given below:

(A) aandbonly (B)

(C©) a,banddonly (D) b,

(E) Question not attempted

Bonen
Cardiac muscle

&lzcs?’ver from the

bund ¢ only
c%d d only

TS Feren 3 IeTRCoT E -

a T b. ﬂﬁ%tf)
efifmr 4 wedh

ﬁmwﬁmﬁﬁmmmgﬁ

(A) F@adiRb  (B) %ﬁ@baﬂrc
A ¥ a, b3id (D) %ﬁaﬂ c3id

(E) orgaRawx

-8 What is the percentage of oxygen and carbon

C’

dioxide in air inhaled by a human being?

Choose the most appropriate aég_yver from the

options given below:

o

(A) 16.4% and 4.4% respectivel})

(B) 4.4% and 16.4% respecti

véiy

. . ..l
(©) 21%and 0.04% respecuve[x .
(D)  0.04% and 21% respectively,

(E)  Question not attempted

ﬁw’mamt-ﬁaﬁaﬁ#’rmﬁmaﬁt

o R STgaiTaTse o wiiET T eRe?
. ﬁq%mﬁmaawngmmﬁ
S @ : 16.4% 3l 44% (]
, ﬁ: 4.4%3M164% @3
© sm:21% 3R 0.04% v
(D) T 0.04% 37T 21% gl
®) srgafaan ,
°PQ-X121 *

17

/

85

an
|llagcs of Rajasth :

Who travelled through the v pala Gaya

C
and started his scrics ‘Mein Dckh‘af Fisjasth an?
based on the rural life and sodéty o e from the
Choose the most approprlate ¢“Answe

options given below: (J)
(A) ° Pt. Vishwa Mohan Bhatt+{
(B) Dr.PX. Sethi g
(C) Jagiit Singh

(D) Karpur Chand Kulish

(E) Question not attempted:¥}

forer Trererm & widh @ WO %mamm;:
o e TaT T W mff}r %
=T T & fram

mﬁmﬁﬁammmaﬁ
(A) 4 fRrderse c:

®B) . F 3R |

(©) eha fie

© wrEgRE "
(B) ogaiaws [

(6'e)
In 1949, who became the CHief Minister of the
Greater Union of Rajasthan? N

Choose the most appropnale\gnswer from the
optlons given below: o>

(A) Hira Lal Shastn (B) Shobha Ram
(C) Brij Bhushan (D) SewaRam
(E) Question not attempted

1%9ﬁmmw%wm
ﬁqﬁrﬁa«ﬁwﬁﬁ#wﬁ&wmﬁ?

. \~
(B) Suiaws =
Nature of magnesium hydroxide js:
Choose the most appropriate ansyy,

options given below: :\'2 ) o from the

(A) Acidic (B) Basic

(C) Salty (D) Néutrg) W

(E) Question not attempted’“ w— - K
AT eregiaTys vy F\@ N oS
ﬁwﬁ!ﬁaﬂﬁmfiﬁmﬁh

(A)  3r=fig —B) iy 3?'

(C) waviiy (D) Ry

(B)  vgefawr : T

[ Congg

G
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86
is called:
(A) Crystallisation (B) Galvanisation
(©) Rusting - (D)
(E) Question not attempted

Neutralisation

T T R o A o 6 v @

el
(A) TR
EUESUC

SR

(B) dvIEQGT
‘(D) SrdttaRtor

87
kept on a palm due to its low melting point?

Choose the most appropriate answer from the

options given below: -
(A) Calcium B) Gallium
(C) Magnesium (D) Mercury

(E) Question not attempted

frafufad o & P ug @ = e &
T B T @ 9 oft e st 22

freafafas feredl § & waifies Iugw Sw gi:
A) FHewm B) Noaw

© . Mifem  @f 9 e

(E) IFaRayd

Which of the following is the most ductile metal?

©

<

7 Choose the most appropriate answer from the

options given below:
(A)  Copper
(C) Silver (D) Gold
_ (E) . Question not attempted
. Prefefed i & H- waifo w g i
PR Rt § & Wi sugw s,
(A) (B) Ughifran
S _wikd \J_/D)/ |
(E) Sruiawd .
OPQ-X12 ] *

N

(B) Aluminium .

The process of depositing a layer of zinc on iron

Which of the following metal melts even when

91

18

89

90

Das?

Which movement was led by Sadhu Sitaran

Choose the most appropriate answer from the

options given below:
(A) Bijolia

(C) Bhagat

(E) Question not attempted

my wftarers e ¥ forer SAidter w1 Age e
freffaa fieel 3§ & waifa® Iug® S
/@( feiftmr  (B) W@ER

¢) wm (D) AN
® Ngﬂﬂasm '

(B) Shekhawati
(D) Non-cooperation

In which phase were Alwar, Dholpur, Bharatpur

and Karauli merged into Greater Rajasthan?

Choose the most approﬁdate answer from the

options given below: '

(A) Fifth " (B) Second

(C) Third (D) Fourth

(E) Question not attempted

T <o 3 ST, IR, mgtmmﬁrqzz

T § faer gom?

frafafea faeredl § & waifae Jugw Iw H:
_uf ®) fa

© TH ®) “gf

() gaRawH

Where is the Jawai Dam situated in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Pali (B) Jaipur

(C) Kota (D) Sikar

(E) Question not attempted

e i wrad wity et feera &2

ﬁmﬁﬁﬁmﬁwmmgﬁ

aredt (B) AW

() = (D) Hiw

(E) rguiaws

[ Contd...
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92 Accordmg to the cengps of 2011 whiéh of the
i‘ollowmg districts hagthe highest popu[
Ra_lasth:m? Q@
choosc the most ap@‘pn’aw answer from the
options given below: v
(A). Bikaner €(B) Sikar
(C) Jaipur %) Pali
(E) . Question not attempted | er
2ou£rwvm%::ﬂgapmn%ﬁqﬁgm
firet o TG w2
ﬁqﬁmﬁﬁﬁﬁéﬁmmmgﬁ
@ d ). e

el g P) nnefr
() ~orgafa A N

93  According to the census of 2011 which of the

following districts of Rajasthan had the lowest
rural sex ratio? ('*')

ation in

Choose, the most ap&opriate answer from the"

options gwen belowm

(A) Pali C\B)  Sikar

(©) Jalore R{D) Dholpur

(E): Question not attempted
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- -Where isthe Ramsagrbrildlifc sanctuary located
in Rajasthan? .

- Choose {he: most appropriate answcr from the
Options given below: (v)
(A)  Bung; [YB) Dholpur

©)  Chuny )
(E)

Ajmer
Quesuon not agtempted
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